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RIGHT OF WAY ¢

Form 5108

AgrPPmPnt. Madc and entered into this.... ... /'5:-

Velllnga

COMPANY, a Corporation, second party.

) D A

day of M ........ .

WITNESSETH:

cessors and assigns, the right, privilege and authority to construct, operate, and maintain, during the corporate exist-

ence of said second party, its lincs for electric light and power, including the necessary poles. towers, wires, and fix-

o
tures upon, over, and across the property wlnch....%:é&.—.—. .......... own, or in whnch...—zﬁ% ......... have an interest, in
the Mﬁ(f—— of 4 Wéf/t%%"‘v{ ., County of /Mm’/ , and

AL AN A0 LAY

~ 0N

TRSLG

State of Michigan, the route of said line being as follows: /%‘-/ﬁ /C M Sk : -&M—

7//4.&‘%%_«_ M% %/‘74{44 p7a 3 Loge

Secoud party shall have the right to permit the attachment of the wires of any other company, and shall have
the right to trim any trees along said lines so as to keep the wires clear at least Four (4) feet, to ercct and set the

necessary guy and brace poles and anchors, and to attach thereto the necessary guy wires.

Second party agrees to reimburse said first par%...., A PR lieirs and assigns, for all damages to

M....growing crops, buildings or fenees, caused by its men and teams in entering said property from time to

time for the purposes sct forth herein,

IN WITNESS WHEREOF, first rmrt.%.....ha..../A-.-...hcrennto set... /e %, hand and scal, and second party

has causcd these presents to be executed the day and year first above written,
. . 7 /0)
%%@Mé(y/ a/ét( etk (Seal)

(Seal)

d in presence of

THE DETROIT EDIM}N COMPANY,

By 67 M")’WLO\/\/Q/’;/\M { A

L

%. A D 1016

as first 1)art%. -thereto, and acknowledged the same to be./ﬁ%....frcc act and deed.
SPEL

M’y commission expires . ... .. fagrt M
Notary Public,....%m_..founty, Michigan.
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